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Determining Proportionality with Tables Name:
Determineif the valuesin thetable are proportional (yes) or not (no). Answers
Dix| vy x|y [ x|vY
8 | 56 4| 1 10| 4 t
51| -35 3| -2 11 | 5
4 | -28 2] -3 12| 6 2
2| -14 1| -4 13| 7
3.
4,
5.
1 x| v 9 | x |Y 6) | x | v
-28 | -32 1 1 7 | 3 o
21 | -24 16 | 4 8 | 4
14 | -16 25| 5 9 |5 b
-7 -8 36| 6 10| 6
8.
0.
10.
Nlx| vy 8 | x|v x|y
11.
-6 | -13 6 7 63 | -9
5] -12 18 | 21 28 | -4
4| 11 24 | 28 21| 3 1
-3 | -10 60 | 70 7 | -1
10 | x | v ) [ x | v 12) [ x | v
-36 | 40 -10 | 60 10| 1
-27 | 30 -6 | 36 5 | 5
-18 | 20 -3 | 18 72 | 8
-9 | 10 -2 | 12 90 | 10
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Determining Proportionality with Tables Name: Answer Key
Determineif the valuesin thetable are proportional (yes) or not (no). Answers
Dix| vy x|y x|y
1. YES
-8 | -56 | 7.00 -4 1 -1 025 10 | 4 | 250
-5 | -35 | 7.00 -3 | -2 | 067 11 | 5 | 220 no
4| 28| 7.00 2| 3| 150 12| 6 | 2.00 2
-2 | -14 | 7.00 -1| -4 400 13| 7 | 1.86
3. no
4. YES
5. no
1 x| v 9 | x |Y 6) | x | v
6. no
-28 | -32 | 0.88 1 1| 100 7 | 31043
-21 | -24 | 0.88 16 | 4 | 4.00 8 | 4| 050 no
-14 | -16 | 0.88 25| 5| 500 9 | 5| 056 .
-7 -8 | 0.88 36 | 6 | 6.00 10 | 6 | 0.60
8. YES
) YES
10. YES
NIx|y 8 | x|v 9| x|vy yes
11.
-6 | -13 | 2.17 6 7 | 117 63 | -9 | -7.00
5| -12 | 240 18 | 21 | 1.17 28 | -4 | -7.00 no
-4 | -11 | 275 24 | 28 | 1.17 21 | -3 | -7.00 12
-3 | -10 | 3.33 60 | 70 | 1.17 7 | -1 -7.00
10 | x | v ) [ x | v 12) [ x | v
-36 | 40 | -1.11 -10 | 60 | -6.00 10 | 1 | 10.00
-27 | 30 | -1.11 -6 | 36 | -6.00 5 | 5 | 10.00
-18 | 20 | -1.11 -3 | 18 | -6.00 72 | 8 9.00
-9 [ 10| -1.11 -2 | 12 | -6.00 90 | 10 | 9.00
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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